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A HAE - %
2 | A | H TELHIEE (A) W AB%E (B) TR ILADIEL (B-A) HATE B/A)

1 [E AR = AR B 1,501, 777, 000 1,591, 034, 076 89, 257, 076 105.9

1 [E RAEEE R B 1,501, 777, 000 1,591, 034, 076 89, 257, 076 105.9

1 — R o 2 [ R B CR R B 1, 499, 995, 000 1, 589, 531, 791 89, 536, 791 106. 0

HAE > =S 1, 025, 440, 000 1, 083, 066, 483 57, 626, 4183 105. 6

HAESy X 283, 231, 000 295, 948, 160 12,717, 160 104.5

By ik 83, 035, 000 85, 956, 056 2,921, 056 103.5

Nitic g 108, 289, 000 124, 561, 092 16, 272, 092 115.0

2 IRk PR 7 5 [ R PR R B 1, 782, 000 1,502, 285 A 279,715 84.3

HAESy =S 372, 000 327, 803 A 44,197 88. 1

By kP 95, 000 86, 996 A 8,004 91. 6

By It 77, 000 64, 592 A 12,408 83.9

Nithis e 1, 238, 000 1, 022, 894 /A 215, 106 82. 6

2 — AL 2, 000 0 A 2,000 0.0

1 —HEHE 2, 000 0 A 2,000 0.0

1 R S A e 1, 000 0 A 1,000 0.0

2 Rk PR R 5 — A & 1, 000 0 A 1,000 0.0

3 M HEL S OV ECE} 2, 000 0 A 2,000 0.0

150k 2, 000 0 A 2,000 0.0

1 BT 1,000 0 A 1,000 0.0

2%@%@% 1,000 0 A 1,000 0.0

4 [EE S H 4 2,982, 000 2,981, 000 A 1,000 100. 0

1 [E A B4 2,982, 000 2,981, 000 A 1,000 100. 0

158 ERR R 8L 4 1, 000 0 A 1,000 0.0

S 2 g IR AR B et B 4 1, 000 0 A 1,000 0.0

2 FESPRIE - BLE Bl v AT NGB & 2, 585, 000 2, 585, 000 0 100. 0

SR PR S E U AT D HE I 4 2, 585, 000 2, 585, 000 0 100. 0

3 [E A FRE LRI BEER % 3 B i Bh & 396, 000 396, 000 0 100. 0

(] el - [ il e B S S B A Bh & 396, 000 396, 000 0 100. 0

5%32&% 4,173, 967, 000 4,092, 890, 401 A 81, 076, 599 98. 1

1 RAMHE - #ilhée 4,173,967, 000 4, 092, 890, 401 A 81,076, 599 98. 1

1 R B EAR & 4,173, 967, 000 4,092, 890, 401 A 81, 076, 599 98. 1

B AT 4 4,116, 841, 000 3, 973, 058, 401 /A 143, 782, 599 96. 5

R A 4 57, 126, 000 119, 832, 000 62, 706, 000 209. 8

PRIRFE 5% ) b il FE A2+ 4 24, 407, 000 24, 407, 000 0 100. 0

Rl 4 (HETR ) 8, 929, 000 20, 892, 000 11, 963, 000 234. 0

WA A (2 557) 8, 196, 000 59, 509, 000 51, 313, 000 726. 1

YRz S A 15, 594, 000 15, 024, 000 /A 570, 000 96. 3

6 W PEIA 693, 000 692, 264 A 736 99.9

1 W pEsE A 693, 000 692, 264 A 736 99. 9

[ 1 Fl|-}% OVEL 24 4> 693, 000 692, 264 /A 736 99.9




7 M4 642, 805, 000 642, 804, 409 /\ 591 100. 0
1 —ESiHR AL 544, 345, 000 544, 344, 409 /A 591 100. 0

1 — S EHRA S 544, 345, 000 544, 344, 409 A 591 100. 0
PRI 22 EAR NG (PR BR B )) 129, 247, 000 129, 247, 170 170 100. 0
PRI A 22 ER AL (BRI 2 5)) 103, 355, 000 103, 354, 239 A 761 100. 0
BN 37, 943, 000 37, 943, 000 0 100. 0
HES D — a5 A& 23, 800, 000 23, 800, 000 0 100. 0

Z O — RS FHER AL 250, 000, 000 250, 000, 000 0 100. 0

2 Fe M NE 98, 460, 000 98, 460, 000 0 100. 0

[ 1 BA B I 4 A 4> 98, 460, 000 98, 460, 000 0 100. 0

8 Mtk 4 276, 533, 000 276, 533, 904 904 100. 0
1 a4 276, 533, 000 276, 533, 904 904 100. 0

[ 1 il s 276, 533, 000 276, 533, 904 904 100. 0

9 FEINA 35, 016, 000 53, 246, 694 18, 230, 694 152. 1
1 e . N4l OGS Er 28, 813, 000 47,214, 707 18, 401, 707 163.9

1 EHT 4 28, 810, 000 47,213, 330 18, 403, 330 163.9

2 INE 4 2, 000 1,377 A 623 68.9

3 ik 1, 000 0 A 1,000 0.0

2 TASHI 1 1, 000 2, 464 1, 464 246. 4
[178&F]F 1, 000 2, 464 1, 464 246. 4

3 HEA 6, 202, 000 6, 029, 523 A 172,477 97. 2

1 — RS 5 — & 5, 000, 000 3,212, 677 A 1,787,323 64. 3

2 IR LR T 00 — & 1, 000 0 A 1,000 0.0

3 — X PR R I 4 1, 000, 000 2,772, 508 1,772, 508 277.3

4 IRk O R 8 S i & 1, 000 0 A 1,000 0.0

5 HEA 200, 000 44, 338 /\ 155, 662 22.9

= at 6, 633, 777, 000 6, 660, 182, 748 26, 405, 748 100. 4




%
2 | A | H T HLEE (D) KA (B) A HZE (A-B) HATE B/A)
1 KBt 42,112, 000 38, 149, 087 3,962, 913 90. 6
1B EHE 20, 877, 000 19, 379, 664 1, 497, 336 92. 8
1 e B 20, 032, 000 18, 542, 214 1, 489, 786 92. 6
2 EAESAHE 845, 000 837, 450 7, 550 99. 1
2 1 2y 20, 943, 000 18, 598, 074 2, 344, 926 38. 8
| 1 RER S 2 20, 943, 000 18, 598, 074 2, 344, 926 88. 8
SEE ke 292, 000 171, 349 120, 651 58. 7
[ L i e 292, 000 171, 349 120, 651 58.7
2 RIS % 4,157, 214, 000 3,977, 129, 553 180, 084, 447 95. 7
1 3, 619, 681, 000 3, 472, 745, 556 146, 935, 444 95. 9
1 — R R R R Ak T 3, 514, 164, 000 3, 401, 498, 991 112, 665, 009 96. 8
2 RNk PR R SR AR Aa T 36, 120, 000 15, 447, 436 20, 672, 564 42. 8
3 I LR AR 59, 244, 000 49, 875, 224 9, 368, 776 84. 2
4 IRk ORI 8 S 336, 000 97, 667 238, 333 29. 1
5 A AL TECE 9,817, 000 5, 826, 238 3, 990, 762 59. 3
2 mRAEET 497, 725, 000 471, 456, 093 26, 268, 907 94. 7
1 —RR R B AR S 487, 680, 000 465, 895, 220 21, 784, 780 95. 5
2 RNk PR 5 R R 9, 240, 000 4,873, 362 4, 366, 638 52. 7
3 R E B ELRERER 700, 000 687,511 12, 489 98. 2
4 BRI S R R 105, 000 0 105, 000 0.0
3BEE 90, 000 0 90, 000 0.0
1 — R E S 60, 000 0 60, 000 0.0
2 IRk PRI R 30, 000 0 30, 000 0.0
4 HPEER HFEE 35, 718, 000 29, 677, 904 6, 040, 096 83. 1
1 HPER I — R4 35, 700, 000 29, 663, 834 6, 036, 166 83. 1
2 T TR 18, 000 14, 070 3, 930 78.2
SE 4, 000, 000 3, 250, 000 750, 000 81. 3
| 1 ZE5% %0 4, 000, 000 3, 250, 000 750, 000 81.3
3 [E KA LA - E T T & 2,020, 479, 000 2,020, 476, 498 2, 502 100. 0
1 =FEREE S 1, 365, 998, 000 1, 365, 996, 793 1, 207 100. 0
1 — R R R R B 1, 364, 546, 000 1, 364, 545, 007 993 100. 0
2 RNk PR R S A oy 1, 452, 000 1,451, 786 214 100. 0
2 e W EnE Ry 485, 404, 000 485, 403, 043 957 100. 0
1 — R R i e %) 485, 153, 000 485, 152, 594 406 100. 0
2 Rk PR S 18 ] e 8 iR 5 251, 000 250, 449 551 99. 8
3T REMNT & 169, 077, 000 169, 076, 662 338 100. 0
1 I ANGL 400 169, 077, 000 169, 076, 662 338 100. 0




WA FER TS 1, 000 720 280 72.0

1 4k H%%ﬂ@ﬁ/\ 1, 000 720 280 72.0

36 [A] L 4 1, 000 720 280 72.0

5 1%@%%?& 103, 889, 000 83, 801, 042 20, 087, 958 80. 7
1 PRIEFER 16, 199, 000 12, 233, 530 3, 965, 470 75.5

[ 1 FRfdfs A ) 16, 199, 000 12, 233, 530 3, 965, 470 75.5

2K e S T ER 87, 690, 000 71, 567, 512 16, 122, 488 81.6

[1 %m@%ﬁ%@%%%% 87, 690, 000 71,567,512 16, 122, 488 381.6

6 RN A 244, 619, 000 244, 619, 000 0 100. 0
1 e 4 244, 619, 000 244, 619, 000 0 100. 0

[ 1 BB e N 4 244, 619, 000 244, 619, 000 0 100. 0

7% iﬁ/\ 25, 463, 000 23, 204, 356 2, 258, 644 91. 1
1 B4 R N AINE 4 25, 462, 000 23, 204, 356 2, 257, 644 91. 1

1 — AR R R BRI 4 10, 000, 000 8,012, 128 1,987, 872 80. 1

2 ﬁﬁﬁ%ﬁf%ﬁﬁ%%f%ﬁﬁﬁiﬁﬁ(ﬁ 50, 000 0 50, 000 0.0

3 — R AR IR R AT I 300, 000 82, 500 217, 500 27.5

4 IR R [ 5 mﬁ'ﬂﬂﬁi 1, 000 0 1, 000 0.0

5 1%Kﬁ%ﬁﬁz“éf’%ﬁﬁ/\1%a% 15, 110, 000 15, 109, 728 272 100. 0

6 = DfEE S 1, 000 0 1, 000 0.0

2 JETE 4 1, 000 0 1, 000 0.0

| 1 JEE 4> 1,000 0 1,000 0.0

8 TIHE 40, 000, 000 0 40, 000, 000 0.0
1 TiHeE 40, 000, 000 0 40, 000, 000 0.0

|1 PEZ 40, 000, 000 0 40, 000, 000 0.0

= at 6, 633, 777, 000 6, 387, 380, 256 246, 396, 744 96. 3




